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BACHELOR'S DEGREE PROGRAMME
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(APPLICATION ORIENTED COURSE)
ACC-1 : ORGANIZING CHILD CARE SERVICES

Time : 3 hours	 Maximum Marks : 100

Note : Attempt any five questions. All questions carry equal
marks.

	

1.	 (a) - List the five areas of development. Describe
any two in detail with appropriate

5+21/2+21/2examples.

(b) List the reasons why early childhood years 10
(0-6 years) are considered critical in
development ?

CD
CO
CD

	

00 2.	 State one activity each to foster the following :5x4=20
ND

Fine motor skills of a one year old.

The language of a 4 year old child.

(c) Concept of numbers in a preschool child.

(d) Helping and sharing behaviour in a three
year old
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3.	 While selecting a preschool for your child : 10+10=20

What are the qualities you will look for in
teachers and workers of the preschool
centre ?

What are the aspects you will consider in
evaluating the organisation of space the
preschool centre ?

	

4.	 (a) Describe the four ways of parenting. 	 4x4=16

(b) Which according to you is the most	 4
appropriate parenting style ? Give reasons
for your answer.

	

5.	 Write short notes on any two (350 words) of the
following :	 _ 10+10=20

Fostering creativity in children.

Importance and ways of involving parents
in the activities of the child care centre.

(c) Five activities to enhance language
development in 3-6 year old children.

(d) Critical periods in development
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(a) Briefly describe the development of thinking
abilities from birth to two year of age, giving
examples.	 10+10=20

(b) State any two activities to enhance cognitive
development during infancy.

(a) What do you understand	 by	 5
'balanced meal' ?

Prepare a balanced dinner menu for a six 	 5
year old child. State the nutrients provided
by each item in the , menu.

What is meant by growth monitoring ?
Explain any one method of monitoring
children's growth.	 3+7=10
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